
32 Motor
Professional \ High pressure cleaner hotwater \ Electric motor \ HDS 698 C *EU \ Spare parts list HDS 698 C \ Motor \ Motor

Valid on 25.09.2018 Page 1 / 2



32 Motor
Professional \ High pressure cleaner hotwater \ Electric motor \ HDS 698 C *EU \ Spare parts list HDS 698 C \ Motor \ Motor

Valid on 25.09.2018 Page 2 / 2

POS Article no. Description Quantity Unit
16 6.401-427.0 Angular contact ball bearing 1.000 ST
7 6.401-331.0 Ball bearing 1.000 ST
3 5.063-802.0 Bearing cover B 1.000 ST
1 5.600-046.0 Blower wheel 1.000 ST
25 4.820-578.0 Cable green/yellow 1,5mm²x450mm 1.000 ST
19 5.064-457.0 cover plate qusty grey oil 1.000 ST
5 6.288-016.0 Gear oil 1L 1.000 ST
0 4.623-435.0 Motor complete only for replacement 1.000 ST

Item text1: / 1.173-110.0 / -116.0
0 4.623-418.0 Motor complete only for replacement 1.000 ST

Item text1: / 1.173-101.0 / -102.0 / -112.0
Item text2: / -113.0

9 6.363-273.0 O-Ring seal 11,0 x 2,0 1.000 ST
22 6.362-161.0 O-Ring seal 19,3 X 2,4 1.000 ST
18 7.318-003.0 Parallel key 5X 5X 18-C45R DIN 6885 1.000 ST
2 7.318-079.0 Parallel key A 5x5x25-C45R DIN 6885 1.000 ST
17 6.367-047.0 Rotary shaft seal AS 25X35X7 1.000 ST
26 7.303-031.0 Screw M4x10 -St-P2R (In6Rd) 1.000 ST
21 7.303-038.0 Screw M5x12 -St-P2R (In6Rd) 1.000 ST
4 6.303-320.0 Screw M 5x 20-St-R2R 4.000 ST
11 7.306-092.0 Screw M6x20-ST- 8.8-R3R (IN6RD) 1.000 ST
10 5.411-100.0 Screw plug 1.000 ST
23 5.110-753.0 Sleeve 1.000 ST
12 7.313-003.0 Spring washer B 6-FSt-A3E DIN 127 1.000 ST
20 5.070-521.0 Tank oil 1.000 ST
6 6.343-015.0 Tolerance ring 35X6 1.000 ST
13 7.312-260.0 Washer 6 -100HV-A3E ISO 7094 1.000 ST
24 7.312-003.0 Washer 6 -200HV-A3E ISO 7090 1.000 ST
15 4.120-185.0 Wobble plate complete 1.000 ST

Item text1: / 1.173-110.0 / -116.0
15 4.120-181.0 Wobble plate complete only for replaceme 1.000 ST

Item text1: / 1.173-101.0 / -102.0 / -112.0
Item text2: / -113.0

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

